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Use the following passage to choose the right answer from (1- 4):(2 Marks for each correct answer)

Mr. Green was very unhappy about modern education, and thought that younqg people nowadays are not
being taught the importance of knowing the difference between right and wrong. One day he was taking a walk in
the park near his home when he saw some young boys standing around a small cat. Mr. Green went up to the
boys and asked them what was happening. One of the boys said to him, "We're having a race. We're telling lies,
and the one who tells the biggest one, gets to keep the cat." Mr. Green thought that this was a good opportunity

to teach the boys a useful lesson, so he said to them. "I've never told a lie in my life." All of the boys at once
shouted, and they said "You've won! You can take the cat!"

Treeee, felt very ............. about modern education.

A. The boys / unhappy B. Mr. Green / happy C. Young people / worried  D. The winner / sad
2-Theone who ................. , gets to keep the cat.

A. tells lies B. tells the biggest lie C. never tells a lie D. tells lies very often
3-The boyswere ...................

A. having a race for a small cat in the park B. asking Mr. Green about modern education

C. trying to sell a small cat to Mr. Green D. teaching Mr. Green a useful lesson
4-The underiined sentence shows ................

A. present continuous active B. present simple tense

C. negative present perfect D. present continuous passive
O s since it is thought that the remains of many cities lie one below another beneath it.

A. The merchants travelled this way for 1500 years B. The citadel mustn't be repaired

C. Archaeologists want to investigate the mound D. The citadel contains lots of buried money
6-The expression...................... )refersto ...............

A. (More than eight million) / the population of the place that Kate's cousin lives there.

B. (Over 2000) / the number of young representatives that took part in Our World Today program.
C. (80) / the weight of huge rectangular blocks at Stonehenge.

D. (146 metres) / the length of the square base of the Great Pyramid of Khufu.

7-According to Dr. Sally Dale, if you ..................... e

A. manage everything / you have to put things off B. revise late / you will do well in your exam

C. plan your route / you can make yourself a wall planner D. tick things off / your list is too long
o shows that it can be very dangerous to create new farmland.

A. Using hydroponics B. The "Oklahoma Dust Bowl" disaster

C. Rising human population D. The land that is farmed sustainably
9-The merchant left his treasure in a cave because ......................

A. he lett it for his friends to take B. travel was safe and there was no attacking

C. he didn't come back for his treasure D. he may have wanted to protect it from an attack
10-.............. is not one of the five boroughs of New York City.

A. Staten Island B. the Bronx C. Broadway D. Queens

11-Azad Qadir agreed to speak in a discussion in the World Youth Conference because .......
A. his first presentation was successful B. Kate Reilly told him to do
C. the organizers kept asking D. he had too much time to get himself ready to do it




12-According to Neelam Reddy, in Northern India, the water is beginning to get salty, SO ........................

A. not nature but people can continue like this B. both nature and people can go on like this
C. farmers will be able to continue farming D. nature and people can't go on like this
13-............. is an example of the word (period) but .............. means an important thing that must be done first.
A. An amount of time / schedule B. The length of a school lesson / priority
C. Ride the bus to school / leaflet D. turn off the lights / achieve
14-Which of the following is correctly spelled?
A. enviroment B. locasion C. enterance D. preparation
15-Homeless families have nothing to ................ , then who is supposed to ................ them?
A. eat/ fed B. feed / eat C. eat/feed D. eaten / feed
16-Janeis ............. in wildlife. She always walches ................ documentary programs about bees on TV.
A. interesting, interesting B. interested, interesting
C. interested, interested D. interesting, interested
17-Choose the right option:

A. The word (square) has the same form of (noun and adjective).
B. The word (physics) refers to " the study of social matters ",

C. The suffix (dis) is used to make the word (appear) opposite.

D. The suffix (or) is used to turn the verb (present) into (noun thing).

18-Choose the right (two-word nouns):

A. Passport departure B. Passport control C. Landing departure D. Central card
19-The letters (gg.g) in the word (luggage) are pronounced as .............and ................

A ly/- g/ B./d3/-/d3/ C./d3/-/y/ D./fy/-/d3/
20-Choose the wrong one:

A. The letter (h) is silent in the word (Buddhism). B. The word (confirm) carries the sound /3./.

C. There is /@ / sound in the word (consider). D. The sound // is found in the word (heart).
21-There ................intheword (............... 1

A. is no silent letter / crisis B. is one silent letter / gene

C. are two silent letters / flight D. All of them are correct
22-The letters (ed) in the word (wanted) are pronounced as ....... but the word ...... carries the sound /u:/.

A. /id/ - woods B. /d/ - youth C. /id/ - marooned D. /d/ - tunnel
23-The underlined letters in the word (architecture) are pronounced the sounds .......... and ...

respectively.

A Hi/-H/ B./k/ - M/ C.M/- I D. /k/ - K/
24-The football field ............... 11 A later?

A. is not dry enough to play / why not play B. is too wet to play / what about playing

C. is enough wet to play/ let's play D. Both (A + B) are correct

25-Choose the correct option:
A. ‘I suggest you revising the lesson.” is correct grammatically.
B. We use (let's) when we disagree to a suggestion .
C. The expression "May be not" is used when we agree to a suggestion.
D. (S.+had +p.p.+ ..........)is used when we express past perfect .

26-You won't be dismissed .........................
A. if you didn't continue to wake up early. B. if you continues to wake up late.
C. as long as you continue to wake up early. D. ,or you continue to wake up at the right time.




27-Joe is late for training at the football club, which starts at 5:00. .............. at football training by 5:00?

A. Doesn'the hastobe  B. Didn't he have to be C. Doesn't he been D. Hadn't he have to be
2OWE: o here for over half an hour and the waiter ............... our order yet.
A. have been waiting / hasn't taken B. have waited / has took
C. have been waiting / haven't taken D. have been waiting / has taken
7| the new project? This time next week
A. When will Jane and Jack be discussing B. Will Jane and jack be discussing
C. Jane and jack will be discussing D. Where will Jane and Jack be discussing
30-Choose the correct Tag Question:
A. He beat me at chess, doesn't he? B. The bus stop's over there, has it?
C. There are not any cars, are they? D. None of them are correct
K & is the correct past simple sentence.
A. She put her hands over her eyes. B. She sung her baby to sleep.
C. She has done her duty. D. She chosen to stay with her father.
32-ThisiS ....covve...... phone in the store but the others are ............ than it.
A. the cheapest / much most expensive B. the least expensive / a lot more expensive
C. the most expensive / a lot more cheap D. the most expensive / much expensive
33-Choose the correct form of advice:
A. You need to lit a candle. B. You had better to take an umbrella with you.
C. You should try and did your best. D. None of them are correct
34-My plane was supposed to leave ............ 7:07 p.m. but it didn't take off .......... 8:30.
A. at/ until B. at/on C. until /in D. at/in
35-ifonlyyou .................. the speed limit, the police officer ............... your driving license.
A. had exceed / would have taken B. hadn't exceeded / wouldn't have taken
C. exceed / would take D. hadn't exceed / wouldn't have taken
36-The area of farmland is (13%) and the area of grassland is (26%), so ....................
A. Farmland is exactly half the area of grassland B. Grassland covers twice the area that is farmland
C.The area of grassland is three times the area of farmland D. Both (A + B) are correct
37-Elena ............... to study in California because she ............... to experience life there.
A. choose / had wanted  B. had chosen / had want C. chose / had wanted D. has chosen / want

38- (I will start a new project after | finish working on this project.) This sentence is the same as .............
A. [ finish working on this project as | would started a new project
B. | will finish working on this project before | start a new project.
C. | will start a new project unless | finish working on this project.
D. I will finish working on this project before | started a new project.

39-Which option carries the idea of possibility?

A. He might bit you. B. It must be a knife. C. She might have heard you.  D. He may alive.
40-Whilewe ................. on the platform, the train ............... to the station.

A. were waiting / get B. are waiting / got C. were waiting / got D. was waiting / got
41-When is the workshop area .................. gl R and it was finished on 27 of October 2010.

A. going to be built / has already been built B. going to build / was build

C. being build / has just been built D. going to be built / hasn't be built
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4 2-After cleaning the blood from his knife on some grass, Silver blew his whistle and Jim ...........

A. expected that Silver had seen him. B. ran back through the woods to see Ben Gunn.

C. guessed that Silver was calling his men. D. moved closer to watch what silver was doing.
43-Jim knew that Silver had ..................... when he was in the apple barrel.

A. all the crew on his side B. buried Flint's treasure

C. corrupted one of the honest men on the ship. D. got the treasure map

44-When the doctor said "l am surprised, but you have managed to get two honest men on board with you".
According to the doctor, the two honest men were ............... B iiivaii
A. Trelawney and Silver. ~ B. Smollett and Silver ~ C. Silver and Black Dog  D. Mr. Arrow and Smollett

45-When Jim went to see the captain as he was resting in bed, the old seaman ................
A. told Jim a little about his secret. B. talked about the men who were looking for Silver.
C. seemed both strong and exhausted. D. said that he could be able to lie in bed for a week.

46-Choose the correct sentence according to the story of Treasure Island :
A. The doctor had seen Flint’s ship with terrible eyes painted on its sails.
B. Finding a crew was not a problem for the squire at first.
C. The cabin-boy understood the map when he first saw it.
D. Some of the men in the village had heard about the terrible Captain Flint.

47-All of the following sentences are true about Ben Gunn apart from .............

A. he was wearing bits of old seaman's clothing. B. he had an old belt around his waist.

C. he had a pistol that made him feel a little braver. D. he had been dreaming of cheese.
48-The blind man asked for ............... when he knew that someone has been in the chest.

A. the money B. the black spot C. Flint's writing D. the heavy bag that held gold coins
49- (Captain Flint) was the name of ..................

A. the man who gave the treasure map to Bill when he was dying B. Silver's parrot

C. the pirate who had a long scar across one cheek. D. Both (A and B) are correct
50-According to 4Rs, keep old pots and cans to .................

A. mend old fumiture. B. replace buttons that are missing.

C. plant flowers and vegetables. D. save old glass jars.
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